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1. (30%)Consider a monopolist sells its product both through the Internet channel

and the conventional channel (stores). There are two types of consumers, type-1
and type-2, with their reservation prices for the product equal to 6, and 6,
respectively. For simplicity, suppose that there 1s only one consumer for each type
and denote them by consumer 1 and consumer 2. Both consumers have to incur a
transportation cost t, if shopping through stores (conventional channel) instead of
the Internet channel. On the other hand, buying the product on the Net does not
allow both consumers to have the presale services that can only be provided at
stores, thus reducing the willingness to pay on the Net by A; and A, for consumer
1 and consumer 2, respectively. Suppose that unlike consumer 1, consumer 2 1s an
experienced buyer and thus needs less presale service than consumer 1, 1.e., A; >
A,. Furthermore, suppose that t>4, > A,.

(1) Suppose that the monopolist wants to induce the consumer 1 to buy
through stores (convéntional channel) and consumer 2 to buy through the
Internet channel by choosing the optimal prices on the Net (denoted by
P™) and at stores (denoted by P°). What would be the optimal P" and P”,
which maximizes the monopolist’s profits and implements his targeting
strategy successfully?

(i)  Is it true that the optimal Internet price is lower than the optimal price at
stores for this specific case? Why or why not? Should the firm induce
both consumers to buy through the Internet channel? Why or why not?
Provide some marketing implications based on this model.

2. (20%)Consider two segments (for simplicity, assuming one consumer for each
segment), H-segment and L-segment, in which consumers consider buying one

product in a monopolist’s product line that consists of two items. Their reservation

prices (the willingness to pay) for the two products are as follows:

lProduct | o

H-se@ent 2

Segment\product

L-segment

Each consumer considers buying only one product (either product 1 or product 2) and
if he decides to buy, he will buy at most one unit of it to maximize his consumer
surplus. Let the variable cost of product 1 and product equal 1/2 and 2, respectively.
Design the optimal prices of the two products for the firm.
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